* e ==> R8
8 11 FF >ABERFHLETRE == 8
#1: 4 Infinity(99.79) #2: 6 LLIYG(84.63) #3: 5 =~ 4-473(84.06)
1 NS: Pdst 8 5EGH0) 15 9 NS: 3B 52/~ (EAC) -21 VP:| 17.68 : 2.32 Total VP: 67.72 Rank
EW: iikath EFEEF(BAC) 21 EW: liil55 BRiEsR(B0) -1 IMP:| 36 : 7 8
o —
# 1 sJ 4HXS5 690 Mean: 4HXXS4 880 100 1 |[# 2 8 3SE3 -140 Mean: 3SE3 140 1.0 3
v AQJ72 4HS5450 420  4HXS5 690 7.0 1 v KT94 3SE3 -140 -180 2SE3 140 1.0 1
¢ 643 Dif: 240 NS:7 4HXN4 500 50 2 ¢ QJ874 Dif: 0 NS:1  1SE3 140 1.0 1
» 7652 IMP: 6 EW:-1 4HS5 450 1.0 2 » QJ2 IMP: 0 EW:-1 A 00 2
# 9632 s Q74 A 0.0 2 ||asAQJT & 97432 3sw4 4170 0.0 1
v v T86 4HN4 420 00 1 ||w J63 I v A5 3SE4 470 0.0 1
¢ AKJ * QT9872 5CXW6 650 -14.0 1 ||e T96 ¢ AK5 4SW4 420 6.0 1
& AKJT84 & 9 » K96 » T74
o4 VBN 4o AKTS8S ¢ VAN 4 K65
N ~~4 ~ ~ ¢ K9543 N ~~2~~ Q872
S ~~4~~ ¢5 S ~~2~~ ¢32
E 44~~~ 403 E ~~~32 %A853
W 44~~~ ~~~33
# 3 a T82 1NW-1 100 Mean: 3SE-3 300 60 1 |(|# 4 & KJ653 4SS5 650 Mean: A 00 2
v J52 1NW-1100 70 3NW-3 300 6.0 1 v 942 4SS5650 640 4SS5 650 0.0 3
+ K8 Dif: 0 NS:1  1NW-1 100 1.0 3 ¢ T5 Dif: 0 NS:0 4SN5 650 0.0 3
& AQ974 IMP: 0 EW:-1 A 00 2 & J95 IMP: 0 EW:0 4SS4 620 1.0 1
s Q3 ~ J976 2DW2 90 40 2 ||as 974 a2 4SN4 620 1.0 1
v AQT9 v K3 1NW1 90 40 1 ||e T876 + v K53
¢ AQ972 ¢ J53 ¢+ QJ94 ¢ AK863
& K3 » 8652 » 64 » T872
%o ¢ VAN o AKHS o VABN 4, AQT8
N 1~~1~ 8764 N 5~~52 »AQJ
S 1~~1~ ¢T64 S 5~~52 ¢72
E ~2~~~ &JT E ~~~~~ & AKQ3
w ~2~~~ W ~~~~~
#5 4 J5 4SE6 -480 Mean: 5HS-2 200 9.0 1 ||# 6 4 98753 6NE7 -1470 Mean: 4SE7 710 120 1
v J7653 4SXE6 -790 -570 5HS-3 300 7.0 1 v K85 6NE7 -1470 -1450 6DW7 1390 2.0 1
* AQT2 Dif: 310 NS:3 4SE6 480 3.0 2 * 84 Dif: 0 NS:-1 A 00 2
» 84 IMP: 7 EW:6 A 00 2 & QT3 IMP: 0 EW:1  6NW7 1470 1.0 1
s T762 » KQ843 5SXE6 750 -50 1 A » KQJT4 6NE7 1470 1.0 4
v KT2 v 4SXE6 790 -6.0 3 ||v AQJ97 — v 63 TNW7 2220 -13.0 1
+ J98653 * AKQJ7 ¢ 32
& AQ6532 & JT » 62 & AK85
F* VAN oA o ¢VABN 462
N ~~ 2~ ~ 9 AQ984 N ~~~~ ~ v T42
S ~~2~~ K74 S ~~~~~ + T965
E 4~~5~ K97 E ~76~7 &J974
W 4 ~~5 ~ ~76~7
#7 s A7 3NN5 660 Mean: 3NN5 660 7.0 1 |[|# 8 » J972 5DW-3 150 Mean: 5DW-3 150 6.0 1
v AKJ32 3NN-1-100 370 3NN4 630 60 3 v J8753 4SXS-2 -300 -110  5DW-2 100 50 1
+ AQ3 Dif: 760 NS:7 A 00 2 ¢ 72 Dif: 450 NS:6 3SS-1 50 20 1
& K86 IMP: 13 EW:10 1HW-3 300 20 1 & K4 IMP: 10 EW:5 A 00 2
QT ~ J9854 1NN4 180 50 1 [|aA a T84 4DW4 130 1.0 1
v QT9876 + v5 1SN 80 70 1 ||vnAes v T92 4DE4 430 0 1
* K9 ¢ J842 3NN-1 100 -10.0 1 ||e K96543 ¢ AJ8 2DW4 130 1.0 1
& A43 S » J95 a JT7 a A532 4SXS-2 300 5.0 1
¢ VABN ,K632 % ¢ VAN 4, KQ653 3NE3 -400 -7.0 1
N 55~~4 o4 N ~~~2~ »KQ
S 55 ~~4 ¢T765 S ~~~2~ QT
E ~~~~~ & QT72 E 24 ~~3 &Q986
W o~~~ ~ ~ 24 ~~3
#9 4 JT974 4HW4 -620 Mean: 4HW-1 100 110 2 ([|# 10 4 AJ5 3HW4 -170 Mean: 2SS3 140 40 1
v5 4HW4 -620 -430 A 00 2 v T5 3CW-1100 -10  4HE- 100 30 1
+ AJB6 Dif: 0 NS:-5 4HW4 620 -50 4 ¢ JT73 Dif: -270 NS:-4 3HW-1 100 30 1
» 964 IMP: 0 EW:5 3NW4 630 -50 1 & QJT5 IMP: -7 EW:-3 3CW-1 100 30 1
& AK32 s Q8 3NW3 600 50 1 ||a Q76 » K2 2852 110 30 2
v J983 |E v K7642 v A972 _I_ v KJ863 A 00 2
¢ KT ¢ Q43 ¢4 + K962 3HW4 170 40 1
& AJT » Q83 & A8632 & 74 4HE4 -620 -12.0 1
¢VABN 465 o ¢ VAN 4 T9843
N ~1~~~ ¢AQT N ~2~1~ vQ4
S ~1~~~ 49752 S ~2~1~ ¢AQ85
E ~~4~2 K752 E 1~4~~ &K9
W ~~4~2 1 ~3 ~~




: i ==> R8
8 11 FF >ABERFHLETRE == 8
#1: 4 Infinity(99.79) #2: 6 LLIYG(84.63) #3: 5 =~ 4-473(84.06)
2 NS: (B80) 0 10 NS: (BAC) 0 VP:| 10.00 : 10.00| Total VP: 77.37 Rank
EW: (HC) 0 EW: (F0) 0 IMP:] 0 : 0 6
# 1 aJ A Mean: 4HXXS4 880 100 1 ||# 2 a8 A Mean: 3SE3 140 1.0 3
v AQJ72 A 420  4HXS5 690 7.0 1 v KT94 A -180  2SE3 140 1.0 1
¢ 643 Dif: 0 NS:0 4HXN4 500 50 2 ¢ QJ874 Dif: 0 NS:0 1SE3 140 1.0 1
» 7652 IMP: 0 EW:0 4HS5 450 1.0 2 » QJ2 IMP: 0 EW:0 A 00 2
# 9632 s Q74 A 0.0 2 ||asAQJT & 97432 3sw4 4170 0.0 1
v v T86 4HN4 420 00 1 ||w J63 I v A5 3SE4 470 0.0 1
* AKJ + QT9872 5CXW6 650 -14.0 1 ||e T96 + AK5 4SW4 420 6.0 1
& AKJT84 & 9 & K96 & T74
o4 VBN 4o AKTS8S ¢ VAN 4 K65
N ~ ~ 4 ~ ~ ¢ K9543 N ~~2~~ »Q872
S ~~4~~ 45 S ~~2~~ ¢32
E 44~~~ 403 E ~~~32 %A853
W 44~~~ ~~~33
# 3 a T82 A Mean: 3SE-3 300 60 1 |(|# 4 & KJ653 A Mean: A 00 2
v J52 A 70  3NW-3 300 6.0 1 v 942 A 640 4SS5 650 0.0 3
+ K8 Dif: 0 NS:0 1NW-1 100 1.0 3 ¢ T5 Dif: 0 NS:0 4SN5 650 0.0 3
& AQ974 IMP: 0 EW:0 A 00 2 & J95 IMP: 0 EW:0 4SS4 620 1.0 1
s Q3  J976 2DW2 90 40 2 ||a 974 a2 4SN4 620 1.0 1
v AQT9 v K3 1NW1 -90 40 1 ||e T876 + v K53
¢ AQ972 ¢ J53 ¢ Q94 ¢ AK863
& K3 » 8652 » 64 » T872
%o ¢ VAN o AKHS o VABN 4, AQT8
N 1~~1~ v8764 N 5~~52 »AQJ
S 1~~1~ ¢T64 S 5~~52 472
E ~2~~~ &JT E ~~~~~ & AKQ3
W ~2~~~ W~~~
#5 a4 J5 A Mean: 5HS-2 200 9.0 1 ||#6 # 98753 A Mean: 4SE7 710 120 1
v J7653 A -570 5HS-3 300 7.0 1 v K85 A -1450 6DW7 1390 2.0 1
* AQT2 Dif: 0 NS:0 4SE6 480 3.0 2 * 84 Dif: 0 NS:0 A 00 2
» 84 IMP: 0 EW:0 A 00 2 & QT3 IMP: 0 EW:0 6NW7 1470 1.0 1
s T762 » KQ843 5SXE6 750 -50 1 A » KQJT4 6NE7 1470 1.0 4
v KT2 v 4SXE6 790 -6.0 3 ||w AQJO7 — v 63 TNW7 2220 -13.0 1
+ J98653 ¢ AKQJ7 ¢ 32
& AQ6532 & JT & 62 & AK85
F* VAN oA o ¢VABN 462
N ~~2~~ vAQ984 N ~~~~~ v T42
S ~~2~~ ¢K74 S ~~~~~ + 7965
E 4~~5~ &Ko7 E ~76~7 &J974
W 4 ~~5~ ~76~7
#7 » A7 A Mean: 3NN5 660 7.0 1 |[|# 8 » J972 A Mean: 5DW-3 150 6.0 1
v AKJ32 A 370 3NN4 630 60 3 v J8753 A 110 5DW-2 100 50 1
+ AQ3 Dif:0 NS:0 A 00 2 ¢ 72 Dif: 0 NS:0 3SS-1 50 20 1
& K86 IMP: 0 EW:0 1HW-3 300 -20 1 & K4 IMP: 0 EW:0 A 00 2
QT # J9854 1NN4 180 50 1 [|aA ~ T84 4DW4 130 1.0 1
v QT9876 + v5 1SN 80 70 1 ||vnAes v T92 4DE4 430 0 1
+ K9 ¢ J842 3NN-1 100 -10.0 1 ||e K96543 * AJ8 2DW4 130 1.0 1
& A43 S » J95 a JT7 a A532 4SXS-2 300 5.0 1
¢ VABN ,K632 % ¢ VAN 4, KQ653 3NE3 -400 -7.0 1
N55~~4 w4 N ~~~2~ vKQ
S 55~~4 471765 S ~~~2~ QT
E ~~~~~ « QT72 E 24~~3 &Q986
W~~~ ~ ~ 24~~3
#9 » JT974 A Mean: 4HW-1 100 11.0 2 ||# 10 4 AJ5 A Mean: 2SS3 140 40 1
w5 A 430 A 00 2 v T5 A 10  4HEA 100 30 1
* AJB6 Dif: 0 NS:0 4HW4 620 -50 4 ¢ JT73 Dif: 0 NS:0 3HW-1 100 30 1
» 964 IMP: 0 EW:0 3NW4 630 -50 1 & QJT5 IMP: 0 EW:0 3CW-1 100 30 1
& AK32 s Q8 3NW3 600 50 1 ||a Q76 » K2 2852 110 30 2
v J983 v K7642 v A972 _I_ v KJ863 A 00 2
¢ KT ¢ Q43 ¢4 + K962 3HW4 170 40 1
& AJT » Q83 & A8632 & 74 4HE4 -620 -12.0 1
¢VABN 465 oo VAN 4 T9843
N ~ 1~~~ «AQT N ~2~1~ Q4
S ~1~~~ 49752 S ~2~1~ ¢AQ85
E ~~4~2 K752 E 1~4~~ K9
W ~~4~2 1~3~~




* e ==> R8
8 11 FF >ABERFHLETRE == 8
#1: 4 Infinity(99.79) #2: 6 LLIYG(84.63) #3: 5 =~ 4-473(84.06)
3 NS: 5510 BREEGHO) 17 5 NS: BRIERE FEE3R(BAC) -5 VP:| 15.05 : 4.95 Total VP: 83.14 Rank
EW: 2i&E EHEEAC) 5 EW: fARE #imEE(BO) -1 IMP:| 34 18 4
—
# 1 sJ 4HXN4 590 Mean: 4HXXS4 880 100 1 [[# 2 8 1SE3 -140 Mean: 3SE3 140 1.0 3
v AQJ72 5CXW6 -650 420  4HXS5 690 7.0 1 v KT94 3SE4 -170 -180  2SE3 140 1.0 1
¢ 643 Dif: 1240 NS:5 4HXN4 500 50 2 ¢ QJ874 Dif: 30 NS:1 1SE3 140 1.0 1
» 7652 IMP: 15 EW:14 4HS5 450 1.0 2 » QJ2 IMP:1 EW:0 A 00 2
# 9632 s Q74 A 0.0 2 ||asAQJT & 97432 3sw4 4170 0.0 1
v v T86 4HN4 420 00 1 ||w J63 I v A5 3SE4 470 0.0 1
¢ AKJ * QT9872 5CXW6 650 -14.0 1 ||e T96 ¢ AK5 4SW4 420 6.0 1
& AKJT84 & 9 & K96 » T74
o4 VBN 4o AKTS8S ¢ VAN 4 K65
N ~~4 ~ ~ ¢ K9543 N ~~2~~ Q872
S ~~4~~ ¢5 S ~~2~~ ¢32
E 44~~~ 403 E ~~~32 %A853
W 44~~~ ~~~33
# 3 a T82 3SE-3 300 Mean: 3SE-3 300 60 1 |(|# 4 & KJ653 4SS5 650 Mean: A 00 2
v J52 2DW2-90 70  3NW-3 300 6.0 1 v 942 4SN4 620 640 4SS5 650 0.0 3
+ K8 Dif: 390 NS:6 1NW-1 100 1.0 3 ¢ T5 Dif: 30 NS:0 4SN5 650 0.0 3
& AQ974 IMP: 9 EW:4 A 00 2 & J95 IMP: 1 EW:1 4SS4 620 1.0 1
s Q3  J976 2DW2 90 40 2 ||as 974 a2 4SN4 620 1.0 1
v AQT9 v K3 1NW1 90 40 1 ||e T876 + v K53
¢ AQ972 ¢ J53 ¢+ QJ94 ¢ AK863
& K3 » 8652 » 64 » T872
%o ¢ VAN o AKHS o VABN 4, AQT8
N 1~~1~ 8764 N 5~~52 »AQJ
S 1~~1~ ¢T64 S 5~~52 ¢72
E ~2~~~ &JT E ~~~~~ & AKQ3
w ~2~~~ W ~~~~~
#5 4 J5 4SE6 -480 Mean: 5HS-2 200 9.0 1 ||# 6 4 98753 6NE7 -1470 Mean: 4SE7 710 120 1
v J7653 5HS-3 -300 -570 5HS-3 300 7.0 1 v K85 4SE7 -710 -1450 6DW7 1390 2.0 1
* AQT2 Dif: -180 NS:3 4SE6 480 3.0 2 * 84 Dif: -760 NS:-1 A 00 2
» 84 IMP: -5 EW:-7 A 00 2 & QT3 IMP: -13 EW:-12 6NW7 1470 1.0 1
s T762 » KQ843 5SXE6 750 -50 1 A » KQJT4 6NE7 1470 1.0 4
v KT2 v 4SXE6 790 -6.0 3 ||v AQJ97 — v 63 TNW7 2220 -13.0 1
+ J98653 * AKQJ7 ¢ 32
& AQ6532 & JT & 62 & AK85
F* VAN oA o ¢VABN 462
N ~~ 2~ ~ ¢ AQ984 N ~~~~~ v T42
S ~~2~~ K74 S ~~~~~ o T965
E 4~~5~ &Ko7 E ~76~7 &J974
W 4 ~~5 ~ ~76~7
#7 s A7 3NN4 630 Mean: 3NN5 660 7.0 1 |[|# 8 » J972 2DW4 -130 Mean: 5DW-3 150 6.0 1
v AKJ32 1HW-3 300 370  3NN4 630 60 3 v J8753 4DE4 -130 -110  5DW-2 100 50 1
+ AQ3 Dif: 330 NS:6 A 00 2 ¢ 72 Dif: 0 NS:-1 3SS-1 50 20 1
& K86 IMP: 8 EW:2 1HW-3 300 -20 1 & K4 IMP: 0 EW:1 A 00 2
QT # J9854 1NN4 180 50 1 [|aA ~ T84 4DW4 130 1.0 1
v QT9876 + v5 1SN 80 70 1 ||vnAes v T92 4DE4 430 0 1
* K9 ¢ J842 3NN-1 100 -10.0 1 ||e K96543 * AJ8 2DW4 130 1.0 1
& A43 S » J95 a JT7 a A532 4SXS-2 300 5.0 1
¢ VABN ,K632 % ¢ VAN 4, KQ653 3NE3 -400 -7.0 1
N 55~~4 o4 N ~~~2~ »KQ
S 55~~4 471765 S ~~~2~ QT
E ~~~~~ & QT72 E 24 ~~3 &Q986
W~~~ ~ ~ 24~~3
#9 4 JT974 3NW4 -630 Mean: 4HW-1 100 110 2 ([|# 10 4 AJ5 4HE-1 100 Mean: 2SS3 140 40 1
w5 4HW4 -620 -430 A 00 2 v T5 3HW-1100 -10  4HE- 100 30 1
+ AJB6 Dif: 10 NS:-5 4HW4 620 -50 4 ¢ JT73 Dif: 0 NS:3 3HW-1 100 30 1
» 964 IMP: 0 EW:5 3NW4 630 -50 1 & QJT5 IMP: 0 EW:-3 3CW-1 100 30 1
& AK32 s Q8 3NW3 600 50 1 ||a Q76 » K2 2852 110 30 2
v J983 v K7642 v A972 _I_ v KJ863 A 00 2
¢ KT ¢ Q43 ¢4 + K962 3HW4 170 40 1
& AJT » Q83 & A8632 & 74 4HE4 -620 -12.0 1
¢VABN 465 o ¢ VAN 4 T9843
N ~1~~~ 9AQT N ~2~1~ »Q4
S ~1~~~ 49752 S ~2~1~ ¢AQ85
E ~~4~2 K752 E 1~4~~ &K9
W ~~4~2 1 ~3 ~~




e e - ;‘ x PA . R8
8 1MNEELZ2ABEREIBLETRE = 8
L M L) v
#1: 4 Infinity(99.79) #2: 6 LLI/E(84.63) #3: 5 &~ 4-45(84.06)
4 NS: B&ST #REEFGHO) 17 7 NS: 2BR3E R{ZRA(BAC) -13 VP:| 17.34 : 2.66 Total VP: 99.79 Rank
EW: #3 SIRZEEAC) 13 EW: 28X 38 BRII§E(BRO) -1 IMP:| 46 19 1
—
# 1 sJ 4HXN4 590 Mean: 4HXXS4 880 100 1 [[|# 2 8 3SE3 -140 Mean: 3SE3 140 1.0 3
v AQJ72 4HXXS4 880 420  4HXS5 690 7.0 1 v KT94 2SE3 -140 -180 2SE3 140 1.0 1
¢ 643 Dif: -290 NS:5 4HXN4 500 50 2 ¢ QJ874 Dif: 0 NS:1  1SE3 140 1.0 1
» 7652 IMP: -7 EW:-10 4HS5 450 1.0 2 » QJ2 IMP: 0 EW:-1 A 00 2
# 9632 s Q74 A 0.0 2 ||asAQJT & 97432 3sw4 4170 0.0 1
v v T86 4HN4 420 00 1 ||w J63 I v A5 3SE4 470 0.0 1
¢ AKJ * QT9872 5CXW6 650 -14.0 1 ||e T96 ¢ AK5 4SW4 420 6.0 1
& AKJT84 & 9 » K96 » T74
o4 VBN 4o AKTS8S ¢ VAN 4 K65
N ~~4 ~ ~ ¢ K9543 N ~~2~~ Q872
S ~~4~~ ¢5 S ~~2~~ ¢32
E 44~~~ 403 E ~~~32 %A853
W 44~~~ ~~~33
# 3 a T82 3NW-3 300 Mean: 3SE-3 300 60 1 |(|# 4 & KJ653 4SN5 650 Mean: A 00 2
v J52 2DW2-90 70 3NW-3 300 6.0 1 v 942 4SS4 620 640 4SS5 650 0.0 3
+ K8 Dif: 390 NS:6 1NW-1 100 1.0 3 ¢ T5 Dif: 30 NS:0 4SN5 650 0.0 3
& AQ974 IMP: 9 EW:4 A 00 2 & J95 IMP: 1 EW:1 4SS4 620 1.0 1
s Q3 ~ J976 2DW2 90 40 2 ||as 974 a2 4SN4 620 1.0 1
v AQT9 v K3 1NW1 90 40 1 ||e T876 + v K53
¢ AQ972 ¢ J53 ¢+ QJ94 ¢ AK863
& K3 » 8652 » 64 » T872
%o ¢ VAN o AKHS o VABN 4, AQT8
N 1~~1~ 8764 N 5~~52 »AQJ
S 1~~1~ ¢T64 S 5~~52 ¢72
E ~2~~~ &JT E ~~~~~ & AKQ3
w ~2~~~ W ~~~~~
#5 4 J5 5SXE6 -750 Mean: 5HS-2 200 9.0 1 ||# 6 4 98753 6NW?7 -1470 Mean: 4SE7 710 120 1
v J7653 5HS-2 -200 -570  5HS-3 300 7.0 1 v K85 7NW7 -2220 -1450 6DW7 1390 2.0 1
* AQT2 Dif: -550 NS:-5 4SE6 480 3.0 2 * 84 Dif: 750 NS:-1 A 00 2
» 84 IMP: -11 EW:-9 A 00 2 & QT3 IMP: 13 EW:13 6NW?7 1470 1.0 1
s T762 » KQ843 5SXE6 750 -50 1 A » KQJT4 6NE7 1470 1.0 4
v KT2 v 4SXE6 790 -6.0 3 ||v AQJ97 — v 63 TNW7 2220 -13.0 1
+ J98653 * AKQJ7 ¢ 32
& AQ6532 & JT » 62 & AK85
F* VAN oA o ¢VABN 462
N ~~ 2~ ~ ¢ AQ984 N ~~~~~ v T42
S ~~2~~ K74 S ~~~~~ o T965
E 4~~5~ &Ko7 E ~76~7 &J974
W 4 ~~5 ~ ~76~7
#7 s A7 1NN4 180 Mean: 3NN5 660 7.0 1 |[|# 8 » J972 3SS-1-50 Mean: 5DW-3 150 6.0 1
v AKJ32 1SN180 370  3NN4 630 60 3 v J8753 3NE3 -400 -110  5DW-2 100 50 1
+ AQ3 Dif: 100 NS:-5 A 00 2 ¢ 72 Dif: 350 NS:2 3SS-1 50 20 1
& K86 IMP: 3 EW:7 1HW-3 300 -20 1 & K4 IMP: 8 EW:7 A 00 2
QT # J9854 1NN4 180 50 1 [|aA a T84 4DW4 130 1.0 1
v QT9876 + v5 1SN 80 70 1 ||vnAes v T92 4DE4 430 0 1
* K9 ¢ J842 3NN-1 100 -10.0 1 ||e K96543 ¢ AJ8 2DW4 130 1.0 1
& A43 S » J95 a JT7 a A532 4SXS-2 300 5.0 1
¢ VABN ,K632 % ¢ VAN 4, KQ653 3NE3 -400 -7.0 1
N 55~~4 o4 N ~~~2~ »KQ
S 55~~4 471765 S ~~~2~ QT
E ~~~~~ & QT72 E 24 ~~3 &Q986
W~~~ ~ ~ 24~~3
#9 4 JT974 4HW-1 100 Mean: 4HW-1 100 110 2 ([|# 10 4 AJ5 2SS2 110 Mean: 2SS3 140 40 1
v5 3NW3 -600 -430 A 00 2 v T5 2SS3 140 -10  4HEA 100 30 1
+ AJB6 Dif: 700 NS:11  4HW4 620 -50 4 ¢ JT73 Dif: -30 NS:3  3HW-1 100 30 1
» 964 IMP: 12 EW:5 3NW4 630 -50 1 & QJT5 IMP: -1 EW:-4 3CW-1 100 30 1
& AK32 s Q8 3NW3 600 50 1 ||a Q76 » K2 2852 110 30 2
v J983 v K7642 v A972 _I_ v KJ863 A 00 2
¢ KT ¢ Q43 ¢4 + K962 3HW4 170 40 1
& AJT » Q83 & A8632 & 74 4HE4 -620 -12.0 1
¢VABN 465 o ¢ VAN 4 T9843
N ~1~~~ ¢AQT N ~2~1~ vQ4
S ~1~~~ 49752 S ~2~1~ ¢AQ85
E ~~4~2 K752 E 1~4~~ &K9
W ~~4~2 1 ~3 ~~




* e ==> R8
8 E#E<Z 2 RABERFHLEFTRE = 8
#1: 4 Infinity(99.79) #2: 6 LLIYG(84.63) #3: 5 =~ 4-473(84.06)
5 NS: BRAERE # R EIC) -5 3 NS: ¥ 518 BRIZZE(FH0) 17 VP:| 495 : 15.05| Total VP: 84.06 Rank
EW: {5287 328 (BH0) -17 EW: ZhiE:8 FEIE(BAC) 5 IMP:| 18 34 3
o
#1 sJ 4HXN4 -590 Mean: 4HXXS4 880 100 1 [[# 2 8 1SE3 140 Mean: 3SE3 140 1.0 3
v AQJ72 5CXW6 650 420  4HXS5 690 7.0 1 v KT94 3SE4 170 -180 2SE3 140 1.0 1
¢ 643 Dif: -1240 NS:-14 4HXN4 500 50 2 ¢ QJ874 Dif: -30 NS:0 1SE3 140 1.0 1
» 7652 IMP: -15 EW:-5 4HS5 450 1.0 2 » QJ2 IMP: -1 EW:-1 A 00 2
# 9632 s Q74 A 0.0 2 ||asAQJT & 97432 3sw4 4170 0.0 1
v v T86 4HN4 420 00 1 ||w J63 I v A5 3SE4 470 0.0 1
* AKJ * QT9872 5CXW6 650 -14.0 1 ||e T96 ¢ AK5 4SW4 420 6.0 1
& AKJT84 & 9 & K96 & T74
o4 VBN 4o AKTS8S ¢ VAN 4 K65
N ~~4 ~~ yK9543 N ~~2~~ »Q872
S ~~4~~ ¢5 S ~~2~~ ¢32
E 44~~~ &Q3 E ~~~32 &A853
W 44~~~ ~~~33
# 3 a T82 3SE-3 -300 Mean: 3SE-3 300 60 1 |(|# 4 & KJ653 4SS5 -650 Mean: A 00 2
v J52 2DW290 70  3NW-3 300 6.0 1 v 942 4SN4 -620 640 4SS5 650 0.0 3
+ K8 Dif: -390 NS:-4 1NW-1 100 1.0 3 ¢ T5 Dif: -30 NS:-1 4SN5 650 0.0 3
& AQ974 IMP: -9 EW:-6 A 00 2 & J95 IMP: -1 EW:0 4SS4 620 1.0 1
s Q3  J976 2DW2 90 40 2 ||a 974 a2 4SN4 620 1.0 1
v AQT9 v K3 1NW1 90 40 1 ||e T876 + v K53
¢ AQ972 ¢ J53 ¢ Q94 ¢ AK863
& K3 » 8652 » 64 » T872
%o ¢ VAN o AKHS o VABN 4, AQT8
N 1~~1~ 8764 N 5~~52 »AQJ
S 1~~1~ ¢T64 S 5~~52 ¢72
E ~2~~~ &JT E ~~~~~ & AKQ3
w ~2~~~ W ~~~~~
#5 4 J5 4SE6 480 Mean: 5HS-2 200 9.0 1 ||# 6 4 98753 6NE7 1470 Mean: 4SE7 710 120 1
v J7653 5HS-3 300 -570 5HS-3 300 7.0 1 v K85 4SE7 710 -1450 6DW7 1390 2.0 1
* AQT2 Dif: 180 NS:7 4SE6 480 3.0 2 * 84 Dif: 760 NS:12 A 00 2
» 84 IMP: 5 EW:-3 A 00 2 & QT3 IMP: 13 EW:1  6NW?7 1470 1.0 1
s T762 » KQ843 5SXE6 750 -50 1 A » KQJT4 6NE7 1470 1.0 4
v KT2 v 4SXE6 790 -6.0 3 ||w AQJ97 — v 63 TNW7 2220 130 1
+ J98653 * AKQJ7 ¢ 32
& AQ6532 & JT & 62 & AK85
F* VAN oA o ¢VABN 462
N ~~ 2~ ~ ¢ AQ984 N ~~~~~ v T42
S ~~2~~ K74 S ~~~~~ o T965
E 4~~5~ &K97 E ~76~7 &J974
W 4 ~~5 ~ ~76~7
#7 s A7 3NN4 -630 Mean: 3NN5 660 7.0 1 |[|# 8 » J972 2DW4 130 Mean: 5DW-3 150 6.0 1
v AKJ32 1HW-3 -300 370  3NN4 630 60 3 v J8753 4DE4 130 -110  5DW-2 100 50 1
+ AQ3 Dif: -330 NS:-2 A 00 2 ¢ 72 Dif: 0 NS:-1  3SS-1 50 20 1
& K86 IMP: -8 EW:-6 1HW-3 300 -20 1 & K4 IMP: 0 EW:1 A 00 2
QT # J9854 1NN4 180 50 1 [|aA ~ T84 4DW4 130 1.0 1
v QT9876 + v5 1SN 80 70 1 ||vnAes v T92 4DE4 430 0 1
* K9 ¢ J842 3NN-1 100 -10.0 1 ||e K96543 * AJ8 2DW4 130 1.0 1
& A43 S » J95 a JT7 a A532 4SXS-2 300 5.0 1
¢ VABN ,K632 % ¢ VAN 4, KQ653 3NE3 -400 -7.0 1
N 55~~4 o4 N ~~~2~ »KQ
S 55~~4 471765 S ~~~2~ QT
E ~~~~~ & QT72 E 24 ~~3 &Q986
W~~~ ~ ~ 24~~3
#9 4 JT974 3NW4 630 Mean: 4HW-1 100 110 2 ([|# 10 4 AJ5 4HE-1 -100 Mean: 2SS3 140 40 1
v5 4HW4 620 -430 A 00 2 v T5 3HW-1-100 -10  4HE- 100 30 1
+ AJB6 Dif: 10 NS:-5 4HW4 620 -50 4 ¢ JT73 Dif: 0 NS:3 3HW-1 100 30 1
» 964 IMP: 0 EW:5 3NW4 630 -50 1 & QJT5 IMP: 0 EW:-3 3CW-1 100 30 1
& AK32 s Q8 3NW3 600 50 1 ||a Q76 » K2 2852 110 30 2
v J983 v K7642 v A972 _I_ v KJ863 A 00 2
¢ KT ¢ Q43 ¢4 + K962 3HW4 170 40 1
& AJT » Q83 & A8632 & 74 4HE4 -620 -12.0 1
¢V AN 465 ¢ VBN 4 T9843
N ~1~~~ ¢AQT N ~2~1~ vQ4
S ~1~~~ 49752 S ~2~1~ ¢AQ85
E ~~4~2 K752 E 1~4~~ &K9
W ~~4~2 1~3~~




* e ==> R8
8 11 FF >ABERFHLETRE == 8
#1: 4 Infinity(99.79) #2: 6 LLIYG(84.63) #3: 5 =~ 4-473(84.06)
6 NS: ¥i54t BREHEHO) -10 8 NS: EEtHAY RHEEE(EAC) 4 VP:| 5.46 : 14.54| Total VP: 84.63 Rank
EW: #&E L HEEEAC) 4 EW: R2iE5 BEE(BAO) 10 IMP:| 15 29 2
-
# 1 aJ 4HS5 450 Mean: 4HXXS4 880 10.0 1 ||# 2 a8 4SW4 -420 Mean: 3SE3 140 1.0 3
v AQJ72 4HN4 420 420  4HXS5 690 70 1 v KT94 3SW4 -170 -180  2SE3 140 10 1
¢ 643 Dif: 30 NS:1  4HXN4 500 50 2 ¢ QJ874 Dif: -250 NS:-6 1SE3 140 1.0 1
» 7652 IMP: 1 EW:0 4HS5 450 1.0 2 » QJ2 IMP: -6 EW:0 A 00 2
# 9632 s Q74 A 0.0 2 ||asAQJT & 97432 3sw4 4170 0.0 1
v v T86 4HN4 420 00 1 ||w J63 I v A5 3SE4 470 0.0 1
* AKJ * QT9872 5CXW6 650 -14.0 1 ||e T96 ¢ AK5 4SW4 420 6.0 1
& AKJT84 & 9 » K96 » T74
o4 VBN 4o AKTS8S ¢ VAN 4 K65
N ~~4 ~ ~ ¢ K9543 N ~~2~~ Q872
S ~~4~~ ¢5 S ~~2~~ ¢32
E 44~~~ 403 E ~~~32 %A853
W 44~~~ ~~~33
# 3 a T82 1NW1 -90 Mean: 3SE-3 300 60 1 |(|# 4 & KJ653 4SN5 650 Mean: A 00 2
v J52 1NW-1100 70 3NW-3 300 6.0 1 v 942 4SN5 650 640 4SS5 650 0.0 3
+ K8 Dif: -190 NS:-4 1NW-1 100 1.0 3 ¢ T5 Dif: 0 NS:0 4SN5 650 0.0 3
& AQ974 IMP: -5 EW:-1 A 00 2 & J95 IMP: 0 EW:0 4SS4 620 1.0 1
s Q3  J976 2DW2 90 40 2 ||a 974 a2 4SN4 620 1.0 1
v AQT9 v K3 1NW1 90 40 1 ||e T876 + v K53
¢ AQ972 ¢ J53 ¢+ QJ94 ¢ AK863
& K3 » 8652 » 64 » T872
%o ¢ VAN o AKHS o VABN 4, AQT8
N 1~~1~ 8764 N 5~~52 »AQJ
S 1~~1~ ¢T64 S 5~~52 ¢72
E ~2~~~ &JT E ~~~~~ & AKQ3
w ~2~~~ W ~~~~~
#5 4 J5 4SXE6 -790 Mean: 5HS-2 200 9.0 1 ||# 6 4 98753 6DW?7 -1390 Mean: 4SE7 710 120 1
v J7653 4SXE6 -790 -570 5HS-3 300 7.0 1 v K85 6NE7 -1470 -1450 6DW7 1390 2.0 1
* AQT2 Dif: 0 NS:-6 4SE6 480 3.0 2 * 84 Dif: 80 NS:2 A 00 2
» 84 IMP: 0 EW:6 A 00 2 & QT3 IMP: 2 EW:1 6NW7 1470 1.0 1
s T762 » KQ843 5SXE6 750 -50 1 A » KQJT4 6NE7 1470 1.0 4
v KT2 v 4SXE6 790 -6.0 3 ||v AQJ97 — v 63 TNW7 2220 -13.0 1
+ J98653 * AKQJ7 ¢ 32
& AQ6532 & JT » 62 & AK85
F* VAN oA o ¢VABN 462
N ~~ 2~ ~ ¢ AQ984 N ~~~~~ v T42
S ~~2~~ K74 S ~~~~~ o T965
E 4~~5~ &Ko7 E ~76~7 &J974
W 4 ~~5 ~ ~76~7
#7 s A7 3NN4 630 Mean: 3NN5 660 7.0 1 |[|# 8 » J972 4DW4 -130 Mean: 5DW-3 150 6.0 1
v AKJ32 3NN4 630 370  3NN4 630 60 3 v J8753 5DW-2 100 -110  5DW-2 100 50 1
+ AQ3 Dif: 0 NS:6 A 00 2 ¢ 72 Dif: -230 NS:-1  3SS-1 50 20 1
& K86 IMP: 0 EW:-6 1HW-3 300 -20 1 & K4 IMP: -6 EW:-5 A 00 2
QT # J9854 1NN4 180 50 1 [|aA ~ T84 4DW4 130 1.0 1
v QT9876 + v5 1SN 80 70 1 ||vnAes v T92 4DE4 430 0 1
* K9 ¢ J842 3NN-1 100 -10.0 1 ||e K96543 * AJ8 2DW4 130 1.0 1
& A43 S » J95 a JT7 a A532 4SXS-2 300 5.0 1
¢ VABN ,K632 % ¢ VAN 4, KQ653 3NE3 -400 -7.0 1
N 55~~4 o4 N ~~~2~ »KQ
S 55~~4 471765 S ~~~2~ QT
E ~~~~~ & QT72 E 24 ~~3 &Q986
W~~~ ~ ~ 24~~3
#9 4 JT974 4HW4 -620 Mean: 4HW-1 100 110 2 ([|# 10 4 AJ5 2SS2 110 Mean: 2SS3 140 40 1
w5 4HW-1100 -430 A 00 2 v T5 4HE4 -620 10  4HE-1 100 30 1
+ AJB6 Dif: -720 NS:-5 4HW4 620 -50 4 ¢ JT73 Dif: 730 NS:3  3HW-1 100 30 1
» 964 IMP: -12 EW:-11 3NW4 630 -50 1 & QJT5 IMP: 12 EW:12 3CW-1 100 30 1
& AK32 s Q8 3NW3 600 50 1 ||a Q76 » K2 2852 110 30 2
v J983 v K7642 v A972 _I_ v KJ863 A 00 2
¢ KT ¢ Q43 ¢4 + K962 3HW4 170 40 1
& AJT » Q83 & A8632 & 74 4HE4 -620 -12.0 1
¢VABN 465 o ¢ VAN 4 T9843
N ~1~~~ 9AQT N ~2~1~ »Q4
S ~1~~~ 49752 S ~2~1~ ¢AQ85
E ~~4~2 K752 E 1~4~~ &K9
W ~~4~2 1 ~3 ~~




e e - ;‘ x PA . R8
8 1MNEELZ2ABEREIBLETRE = 8
L M L) v
#1: 4 Infinity(99.79) #2: 6 LLI/E(84.63) #3: 5 &~ 4-45(84.06)
7 NS: ZHHIE 5REBHEC) -13 4 NS: BRE<F MigF(F0) 17 VP:| 2.66 : 17.34| Total VP: 79.34 Rank
EW: 28 X348 BE17$2(BHO) -17 EW: e 2IzEPRAC) 13 IMP:| 19 46 5
o
# 1 sJ 4HXN4 -590 Mean: 4HXXS4 880 100 1 [[|# 2 8 3SE3 140 Mean: 3SE3 140 1.0 3
v AQJ72 4HXXS4 -880 420  4HXS5 690 7.0 1 v KT94 2SE3 140 -180 2SE3 140 1.0 1
¢ 643 Dif: 290 NS:10 4HXN4 500 50 2 ¢ QJ874 Dif: 0 NS:1  1SE3 140 1.0 1
» 7652 IMP: 7 EW:-5 4HS5 450 1.0 2 » QJ2 IMP: 0 EW:-1 A 00 2
# 9632 s Q74 A 0.0 2 ||asAQJT & 97432 3sw4 4170 0.0 1
v v T86 4HN4 420 00 1 ||w J63 I v A5 3SE4 470 0.0 1
¢ AKJ * QT9872 5CXW6 650 -14.0 1 ||e T96 ¢ AK5 4SW4 420 6.0 1
& AKJT84 & 9 » K96 » T74
o4 VBN 4o AKTS8S ¢ VAN 4 K65
N ~~4 ~ ~ ¢ K9543 N ~~2~~ Q872
S ~~4~~ ¢5 S ~~2~~ ¢32
E 44~~~ 403 E ~~~32 %A853
W 44~~~ ~~~33
# 3 a T82 3NW-3 -300 Mean: 3SE-3 300 60 1 |(|# 4 & KJ653 4SN5 -650 Mean: A 00 2
v J52 2DW290 70 3NW-3 300 6.0 1 v 942 4SS4 -620 640 4SS5 650 0.0 3
+ K8 Dif: -390 NS:-4 1NW-1 100 1.0 3 ¢ T5 Dif: -30 NS:-1 4SN5 650 0.0 3
& AQ974 IMP: -9 EW:-6 A 00 2 & J95 IMP: -1 EW:0 4SS4 620 1.0 1
s Q3 ~ J976 2DW2 90 40 2 ||as 974 a2 4SN4 620 1.0 1
v AQT9 v K3 1NW1 90 40 1 ||e T876 + v K53
¢ AQ972 ¢ J53 ¢+ QJ94 ¢ AK863
& K3 » 8652 » 64 » T872
%o ¢ VAN o AKHS o VABN 4, AQT8
N 1~~1~ 8764 N 5~~52 »AQJ
S 1~~1~ ¢T64 S 5~~52 ¢72
E ~2~~~ &JT E ~~~~~ & AKQ3
w ~2~~~ W ~~~~~
#5 4 J5 5SXE6 750 Mean: 5HS-2 200 9.0 1 ||# 6 4 98753 6NW7 1470 Mean: 4SE7 710 120 1
v J7653 5HS-2 200 -570  5HS-3 300 7.0 1 v K85 7NW7 2220 -1450 6DW7 1390 2.0 1
* AQT2 Dif: 550 NS:9 4SE6 480 3.0 2 * 84 Dif: -750 NS:-13 A 00 2
» 84 IMP: 11 EW:5 A 00 2 & QT3 IMP: -13 EW:1  6NW7 1470 1.0 1
s T762 » KQ843 5SXE6 750 -50 1 A » KQJT4 6NE7 1470 1.0 4
v KT2 v 4SXE6 790 -6.0 3 ||v AQJ97 — v 63 TNW7 2220 -13.0 1
+ J98653 * AKQJ7 ¢ 32
& AQ6532 & JT » 62 & AK85
F* VAN oA o ¢VABN 462
N ~~ 2~ ~ ¢ AQ984 N ~~~~~ v T42
S ~~2~~ K74 S ~~~~~ o T965
E 4~~5~ &Ko7 E ~76~7 &J974
W 4 ~~5 ~ ~76~7
#7 s A7 1NN4 -180 Mean: 3NN5 660 7.0 1 |[|# 8 » J972 3SS-1 50 Mean: 5DW-3 150 6.0 1
v AKJ32 1SN1-80 370 3NN4 630 60 3 v J8753 3NE3 400 -110 5DW-2 100 50 1
+ AQ3 Dif: -100 NS:-7 A 00 2 ¢ 72 Dif: -350 NS:-7 3SS-1 50 20 1
& K86 IMP: -3 EW:5 1HW-3 300 -20 1 & K4 IMP: -8 EW:-2 A 00 2
QT # J9854 1NN4 180 50 1 [|aA a T84 4DW4 130 1.0 1
v QT9876 + v5 1SN 80 70 1 ||vnAes v T92 4DE4 430 0 1
* K9 ¢ J842 3NN-1 100 -10.0 1 ||e K96543 ¢ AJ8 2DW4 130 1.0 1
& A43 S » J95 a JT7 a A532 4SXS-2 300 5.0 1
¢ VABN ,K632 % ¢ VAN 4, KQ653 3NE3 -400 -7.0 1
N 55~~4 o4 N ~~~2~ »KQ
S 55~~4 471765 S ~~~2~ QT
E ~~~~~ & QT72 E 24 ~~3 &Q986
W~~~ ~ ~ 24~~3
#9 4 JT974 4HW-1 -100 Mean: 4HW-1 100 110 2 ([|# 10 4 AJ5 2SS2 -110 Mean: 2SS3 140 40 1
v5 3NW3 600 -430 A 00 2 v T5 2SS3 -140 -10  4HEA 100 30 1
+ AJB6 Dif: -700 NS:-5 4HW4 620 -50 4 ¢ JT73 Dif: 30 NS:4 3HW-1 100 30 1
» 964 IMP: -12 EW:-11 3NW4 630 -50 1 & QJT5 IMP: 1 EW:-3 3CW-1 100 30 1
& AK32 s Q8 3NW3 600 50 1 ||a Q76 » K2 2852 110 30 2
v J983 v K7642 v A972 _I_ v KJ863 A 00 2
¢ KT ¢ Q43 ¢4 + K962 3HW4 170 40 1
& AJT » Q83 & A8632 & 74 4HE4 -620 -12.0 1
¢VABN 465 o ¢ VAN 4 T9843
N ~1~~~ ¢AQT N ~2~1~ vQ4
S ~1~~~ 49752 S ~2~1~ ¢AQ85
E ~~4~2 K752 E 1~4~~ &K9
W ~~4~2 1 ~3 ~~




* e ==> R8
8 11 FF >ABERFHLETRE == 8
#1: 4 Infinity(99.79) #2: 6 LLIYG(84.63) #3: 5 =~ 4-473(84.06)
8 NS: BEt4r SAB5EEHC) 4 6 NS: BpS 45 BRIEH(BIO) -1 VP:| 14.54 : 5.46 Total VP: 76.19 Rank
EW: BiE= SEEEE0) 10 EW: MER MEL(BAC) -4 IMP:| 29 15 7
# 1 aJ 4HS5 -450 Mean: 4HXXS4 880 10.0 1 ||# 2 a8 4SW4 420 Mean: 3SE3 140 1.0 3
v AQJ72 4HN4 -420 420  4HXS5 690 70 1 v KT94 3SW4 170 -180  2SE3 140 1.0 1
¢ 643 Dif: -30 NS:0 4HXN4 500 50 2 ¢ QJ874 Dif: 250 NS:0 1SE3 140 1.0 1
» 7652 IMP: -1 EW:-1 4HS5 450 1.0 2 » QJ2 IMP: 6 EW:6 A 00 2
# 9632 s Q74 A 0.0 2 ||asAQJT & 97432 3sw4 4170 0.0 1
v v T86 4HN4 420 00 1 ||w J63 I v A5 3SE4 470 0.0 1
¢ AKJ * QT9872 5CXW6 650 -14.0 1 ||e T96 ¢ AK5 4SW4 420 6.0 1
& AKJT84 & 9 & K96 » T74
o4 VBN 4o AKTS8S ¢ VAN 4 K65
N ~~4 ~ ~ ¢ K9543 N ~~2~~ Q872
S ~~4~~ ¢5 S ~~2~~ ¢32
E 44~~~ 403 E ~~~32 %A853
W 44~~~ ~~~33
# 3 a T82 1NW1 90 Mean: 3SE-3 300 60 1 |(|# 4 & KJ653 4SN5 -650 Mean: A 00 2
v J52 1NW-1 -100 70 3NW-3 300 6.0 1 v 942 4SN5 -650 640 4SS5 650 0.0 3
+ K8 Dif: 190 NS:1  1NW-1 100 1.0 3 ¢ T5 Dif: 0 NS:0 4SN5 650 0.0 3
& AQ974 IMP: 5 EW:4 A 00 2 & J95 IMP: 0 EW:0 4SS4 620 1.0 1
s Q3  J976 2DW2 90 40 2 ||as 974 a2 4SN4 620 1.0 1
v AQT9 v K3 1NW1 90 40 1 ||e T876 + v K53
¢ AQ972 ¢ J53 ¢+ QJ94 ¢ AK863
& K3 » 8652 » 64 » T872
%o ¢ VAN o AKHS o VABN 4, AQT8
N 1~~1~ 8764 N 5~~52 »AQJ
S 1~~1~ ¢T64 S 5~~52 ¢72
E ~2~~~ &JT E ~~~~~ & AKQ3
w ~2~~~ W ~~~~~
#5 4 J5 4SXE6 790 Mean: 5HS-2 200 9.0 1 ||# 6 4 98753 6DW7 1390 Mean: 4SE7 710 120 1
v J7653 4SXE6 790 -570  5HS-3 -300 7.0 1 v K85 6NE7 1470 -1450 6DW7 1390 2.0 1
* AQT2 Dif: 0 NS:-6 4SE6 480 3.0 2 * 84 Dif: -80 NsS:-1 A 00 2
» 84 IMP: 0 EW:6 A 00 2 & QT3 IMP: -2 EW:-2 6NW?7 1470 1.0 1
s T762 » KQ843 5SXE6 750 -50 1 A » KQJT4 6NE7 1470 1.0 4
v KT2 v 4SXE6 790 -6.0 3 ||v AQJ97 — v 63 TNW7 2220 -13.0 1
+ J98653 * AKQJ7 ¢ 32
& AQ6532 & JT & 62 & AK85
F* VAN oA o ¢VABN 462
N ~~ 2~ ~ ¢ AQ984 N ~~~~~ v T42
S ~~2~~ K74 S ~~~~~ o T965
E 4~~5~ &Ko7 E ~76~7 &J974
W 4 ~~5 ~ ~76~7
#7 s A7 3NN4 -630 Mean: 3NN5 660 7.0 1 |[|# 8 » J972 4DW4 130 Mean: 5DW-3 150 6.0 1
v AKJ32 3NN4 -630 370  3NN4 630 60 3 v J8753 5DW-2 -100 -110  5DW-2 100 50 1
+ AQ3 Dif: 0 NS:6 A 00 2 ¢ 72 Dif: 230 NS:5 3SS-1 50 20 1
& K86 IMP: 0 EW:-6 1HW-3 300 -20 1 & K4 IMP: 6 EW:1 A 00 2
QT # J9854 1NN4 180 50 1 [|aA ~ T84 4DW4 130 1.0 1
v QT9876 + v5 1SN 80 70 1 ||vnAes v T92 4DE4 430 0 1
* K9 ¢ J842 3NN-1 100 -10.0 1 ||e K96543 * AJ8 2DW4 130 1.0 1
& A43 S » J95 a JT7 a A532 4SXS-2 300 5.0 1
¢ VABN ,K632 % ¢ VAN 4, KQ653 3NE3 -400 -7.0 1
N 55~~4 o4 N ~~~2~ »KQ
S 55~~4 471765 S ~~~2~ QT
E ~~~~~ & QT72 E 24 ~~3 &Q986
W~~~ ~ ~ 24~~3
#9 a4 JT974 4HW4 620 Mean: 4HW-1 100 11.0 2 ||# 10 4 AJ5 2SS2 -110 Mean: 2SS3 140 40 1
w5 4HW-1-100 -430 A 00 2 v T5 4HE4 620 -10  4HE- 100 30 1
+ AJB6 Dif: 720 NS:11  4HW4 620 -50 4 ¢ JT73 Dif: -730 NS:-12 3HW-1 100 30 1
» 964 IMP: 12 EW:5 3NW4 630 -50 1 & QJT5 IMP: -12 EW:-3 3CW-1 100 30 1
& AK32 s Q8 3NW3 600 50 1 ||a Q76 » K2 2852 110 30 2
v J983 v K7642 v A972 _I_ v KJ863 A 00 2
¢ KT ¢ Q43 ¢4 + K962 3HW4 170 40 1
& AJT » Q83 & A8632 & 74 4HE4 -620 -12.0 1
¢VABN 465 o ¢ VAN 4 T9843
N ~1~~~ 9AQT N ~2~1~ »Q4
S ~1~~~ 49752 S ~2~1~ ¢AQ85
E ~~4~2 K752 E 1~4~~ &K9
W ~~4~2 1 ~3 ~~




* e ==> R8
8 11 FF >ABERFHLETRE == 8
#1: 4 Infinity(99.79) #2: 6 LLIYG(84.63) #3: 5 =~ 4-473(84.06)
9 NS: FENER 2 ERZEEC) -21 1 NS: 5 $E{_#(BAO) 15 VP:| 2.32 : 17.68| Total VP: 66.76 Rank
EW: 818035 B EHO) -15 EW: ffifm{t SREIEE (BAC) 21 IMP:| 7 : 36 9
o
# 1 sJ 4HXS5 -690 Mean: 4HXXS4 880 10.0 1 ||# 2 8 3SE3 140 Mean: 3SE3 140 1.0 3
v AQJ72 4HS5 -450 420  4HXS5 690 7.0 1 v KT94 3SE3 140 -180 2SE3 140 1.0 1
¢ 643 Dif: -240 NS:1  4HXN4 500 50 2 ¢ QJ874 Dif: 0 NS:1  1SE3 140 1.0 1
» 7652 IMP: -6 EW:-7 4HS5 450 1.0 2 » QJ2 IMP: 0 EW:-1 A 00 2
# 9632 s Q74 A 0.0 2 ||asAQJT & 97432 3sw4 4170 0.0 1
v v T86 4HN4 420 00 1 ||w J63 I v A5 3SE4 470 0.0 1
¢ AKJ * QT9872 5CXW6 650 -14.0 1 ||e T96 ¢ AK5 4SW4 420 6.0 1
& AKJT84 & 9 » K96 » T74
o4 VBN 4o AKTS8S ¢ VAN 4 K65
N ~~4 ~ ~ ¢ K9543 N ~~2~~ Q872
S ~~4~~ ¢5 S ~~2~~ ¢32
E 44~~~ 403 E ~~~32 %A853
W 44~~~ ~~~33
# 3 a T82 1NW-1 -100 Mean: 3SE-3 300 60 1 |(|# 4 & KJ653 4SS5 -650 Mean: A 00 2
v J52 1NW-1-100 70 3NW-3 300 6.0 1 v 942 4SS5 -650 640 4SS5 650 0.0 3
+ K8 Dif: 0 NS:1  1NW-1 100 1.0 3 ¢ T5 Dif: 0 NS:0 4SN5 650 0.0 3
& AQ974 IMP: 0 EW:-1 A 00 2 & J95 IMP: 0 EW:0 4SS4 620 1.0 1
s Q3 ~ J976 2DW2 90 40 2 ||as 974 a2 4SN4 620 1.0 1
v AQT9 v K3 1NW1 90 40 1 ||e T876 + v K53
¢ AQ972 ¢ J53 ¢+ QJ94 ¢ AK863
& K3 » 8652 » 64 » T872
%o ¢ VAN o AKHS o VABN 4, AQT8
N 1~~1~ 8764 N 5~~52 »AQJ
S 1~~1~ ¢T64 S 5~~52 ¢72
E ~2~~~ &JT E ~~~~~ & AKQ3
w ~2~~~ W ~~~~~
#5 4 J5 4SE6 480 Mean: 5HS-2 200 9.0 1 ||# 6 4 98753 6NE7 1470 Mean: 4SE7 710 120 1
v J7653 4SXE6 790 -570  5HS-3 -300 7.0 1 v K85 6NE7 1470 -1450 6DW7 1390 2.0 1
* AQT2 Dif: -310 NS:-6 4SE6 480 3.0 2 * 84 Dif: 0 NS:-1 A 00 2
» 84 IMP: -7 EW:-3 A 00 2 & QT3 IMP: 0 EW:1  6NW7 1470 1.0 1
s T762 » KQ843 5SXE6 750 -50 1 A » KQJT4 6NE7 1470 1.0 4
v KT2 v 4SXE6 790 -6.0 3 ||v AQJ97 — v 63 TNW7 2220 -13.0 1
+ J98653 * AKQJ7 ¢ 32
& AQ6532 & JT » 62 & AK85
F* VAN oA o ¢VABN 462
N ~~ 2~ ~ 9 AQ984 N ~~~~ ~ v T42
S ~~2~~ K74 S ~~~~~ + T965
E 4~~5~ K97 E ~76~7 &J974
W 4 ~~5 ~ ~76~7
#7 s A7 3NN5 -660 Mean: 3NN5 660 7.0 1 |[|# 8 » J972 5DW-3 -150 Mean: 5DW-3 150 6.0 1
v AKJ32 3NN-1100 370 3NN4 630 60 3 v J8753 4SXS-2 300 -110  5DW-2 100 50 1
+ AQ3 Dif: -760 NS:-10 A 00 2 ¢ 72 Dif: -450 NS:-5 3SS-1 50 20 1
& K86 IMP: -13 EW:-7 1HW-3 300 20 1 & K4 IMP: -10 EW:-6 A 00 2
QT ~ J9854 1NN4 180 50 1 [|aA a T84 4DW4 130 1.0 1
v QT9876 + v5 1SN 80 70 1 ||vnAes v T92 4DE4 430 0 1
* K9 ¢ J842 3NN-1 100 -10.0 1 ||e K96543 ¢ AJ8 2DW4 130 1.0 1
& A43 S » J95 a JT7 a A532 4SXS-2 300 5.0 1
¢ VABN ,K632 % ¢ VAN 4, KQ653 3NE3 -400 -7.0 1
N 55~~4 o4 N ~~~2~ »KQ
S 55 ~~4 ¢T765 S ~~~2~ QT
E ~~~~~ & QT72 E 24 ~~3 &Q986
W o~~~ ~ ~ 24 ~~3
#9 4 JT974 4HW4 620 Mean: 4HW-1 100 110 2 ([|# 10 4 AJ5 3HW4 170 Mean: 2SS3 140 40 1
v5 4HW4 620 -430 A 00 2 v T5 3CW-1-100 -10  4HE- 100 30 1
+ AJB6 Dif: 0 NS:-5 4HW4 620 -50 4 ¢ JT73 Dif: 270 NS:3  3HW-1 100 30 1
» 964 IMP: 0 EW:5 3NW4 630 -50 1 & QJT5 IMP: 7 EW:4 3CW-1 100 30 1
& AK32 s Q8 3NW3 600 50 1 ||a Q76 » K2 2852 110 30 2
v J983 v K7642 v A972 _I_ v KJ863 A 00 2
¢ KT ¢ Q43 ¢4 + K962 3HW4 170 40 1
& AJT » Q83 & A8632 & 74 4HE4 -620 -12.0 1
¢VABN 465 o ¢ VAN 4 T9843
N ~1~~~ ¢AQT N ~2~1~ vQ4
S ~1~~~ 49752 S ~2~1~ ¢AQ85
E ~~4~2 K752 E 1~4~~ &K9
W ~~4~2 1 ~3 ~~




* e ==> R8
8 E#E<Z 2 RABERFHLEFTRE = 8
#1: 4 Infinity(99.79) #2: 6 LLIYG(84.63) #3: 5 =~ 4-473(84.06)
1 O NS: (BC) 0 2 NS: (F80)0 VP:| 10.00 : 10.00| Total VP: -10.00 Rank
EW: (550)0 EW: (BiC) 0 IMP:| 0 ;0 10
# 1 aJ A Mean: 4HXXS4 880 100 1 ||# 2 a8 A Mean: 3SE3 140 1.0 3
v AQJ72 A 420  4HXS5 690 7.0 1 v KT94 A -180  2SE3 140 1.0 1
¢ 643 Dif: 0 NS:0 4HXN4 500 50 2 ¢ QJ874 Dif: 0 NS:0 1SE3 140 1.0 1
» 7652 IMP: 0 EW:0 4HS5 450 1.0 2 » QJ2 IMP: 0 EW:0 A 00 2
# 9632 s Q74 A 0.0 2 ||asAQJT & 97432 3sw4 4170 0.0 1
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